South Korea



ISSP Background Variable Documentation

Please name the ISSP module which the documentation refers to (e.g., “Health and Health
Care /ISSP2011"):

Environment IV/ISSP2020

Please name your country:

South Korea

SEX - Sex of respondent

National Language English Translation

Question no. | # 52.1.2 o] £& YAy 712 oL "l | #52.1.2 Is [Person] male or female?
and text o]zl U 712

Codes/ 1. @A} 1. Male

Categories 2. o=} 2. Female

Interviewer - -
Instruction

Translation -
Note

Note -

Construction/Recoding;:

Country Variable Codes (in translation) = SEX
If (#52.1.2=1) 1. Male
I£#52.1.2=2) 2. Female
s -9. No answer
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BIRTH — Year of birth

This question can be asked as an alternative to asking about AGE. If BIRTH is not asked
directly, it must be computed by DATEYR ‘year of interview’ minus AGE °‘age of
respondent’.

National Language English Translation

Question no. | #52.1.3 ©] o] YYo= wro g 2 | #52.1.3 How old is [Person]?
and text A7k

Codes/ 18. 184 18. 18 years old

Categories 92. 924 92. 92 years old

Interviewer - -
Instruction

Translation -
Note

Note -

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules = BIRTH
Construction
Codes If (#52.1.3=92) [1929]
If (#52.1.3=18) [2003]
- -9. No answer

Optional: Recoding Syntax

| compute birth=DATEY R:age.
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AGE - Age of respondent

This question can be asked as an alternative to asking about BIRTH. If AGE is not asked
directly, it must be computed by DATEYR ‘year of interview’ minus BIRTH ‘year of birth’.

National Language English Translation

Question no. | #52.1.3 ©] #¢| o] sloz U

and text A Q1) 79 #52.1.3 How old is [Person]?

Codes/ 18. 184 18. 18 years old

Categories 92. 924 92. 92 years old

Interviewer - -
Instruction

Translation -
Note

Note -

Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in
[square brackets] with real numbers)

Country Variable Codes/Construction Rules = AGE
Construction
Codes If (#52.1.3=18) [18]
If (#52.1.3=92) [92]
- -9. No answer

Optional: Recoding Syntax

Documentation for ISSP background variables, ISSP 2020 onwards © GESIS



EDUCYRS - Education I: years of schooling

National Language

English Translation

Question no. | #62  #A3st= SuE ot 7}XA] | #62 What is the highest level of school
and text [=ABESESB b/ you have attended?
Codes/ 0. 73t 0. No formal school
Categories | | %% (=7)gtu 1. Elementary school
2.5l 2. Junior high school
3. 2158kl 3. High school
4, A8k (2:31d A 4. Junior college (Two or three-yearieourse)
5. o8kl (43 A)) 5. College (Four-year course)
6. e (AA}A) 6. Graduate school (Masters)
7. g (FHAF A 7. Graduate school (RhD)
8. A, ket 8. Others (e.g. Seodang, Hanhak)
-8. 22} -8. Don’t knbw

Question no.

#62.1 #5l= o] St s

#62.1 Did you graduate from this school,

and text or are you currently attending?
Codes/ 1. =939 1. Graduated
Categories 2. =H Yo 2. Dropped out
3. A & Fo|t} 3. Currently attending
8. =21 -8. Don’t know
-1. v 8l -1. Not applicable
Question no. | #62.2 2 shd u] FE 855 Y7L? #62.2 In what grade did you drop out?
and text
Codes/ 1.18hd 1. 1st grade
Categories 2.28H4 2. 2nd grade
3.3%8d 3. 3rd grade
4. 431 4. 4th grade
5.5%d 5. 5th grade
6. 63 6. 6th grade
8. 220w -8. Don’t know
-1. v -1. Not applicable
Question not | #62.3 A H shd Y712 #62.3 What grade are you in?
and text
Codes/ 1.18hd 1. 1st grade
Categories 2.28hd 2. 2nd grade
3.3%d 3. 3rd grade
4. 483 4. 4th grade
5.58hd 5. 5th grade
6. 63 6. 6th grade
-8. =2} -8. Don’t know
-1.8]8 % -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note Codes for #62: From the 2006 KGSS, the code ‘graduate school’ in previous years

is separated into two different codes, specifying ‘masters’ and ‘phd’ degrees.
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Filter Variable(s) and Conditions:

#62 Ask all

#62.1 To be answered by those who have attended formal school (Codes 1-7 in #62)
#62.2 To be answered by those who had dropped out (code 2 in #62.1)

#62.3 To be answered by those who are currently attending (code 3 in #62.1)

Country Variable Codes/Construction Rules = EDUCYRS
If (#62=0 or #62=8) 0. No formal schooling, no years at
school
If (#62=1 and #62.1=2 and #62.2=1) 1. One year

or (#62=1 and #62.1=3 and #62.3=1)

If (#62=-8 or #62.1=-8 or #62.2=-8 or #62.3=-8) -8. Don't know

- -9. No answer

Optional: Recoding Syntax

if (educ=0 or educ=8) educyrs=0.

if (educ=1 and graduate=1) educyrs=6.
if (educ=1 and graduate=2 and dropyr>=1) educyrs=dropyr-1".
if (educ=1 and graduate=3 and curryr>=1) educyrs=curryr-1>.

if (educ=2 and graduate=1) educyrs=9.
if (educ=2 and graduate=2 and dropyr>=1) educyrs=6+dropyr-1 .
if (educ=2 and graduate=3 and curryr>=1) educyrs=6-+curryr-1 .

if (educ=3 and graduate=1) educyrs=12.
if (educ=3 and graduate=2 and dropyr>=1) educyrs=9-+dropyr-1 .
if (educ=3 and graduate=3"and curryr>=1) educyrs=9+curryr-1 .

if (educ=4 and graduate=1)educyrs=14.
if (educ=4 and graduate=2 and dropyr>=1) educyrs=12+dropyr-1 .
if (educ=4 and'graduate=3 and curryr>=1) educyrs=12+curryr-1 .

if (edue=5 and'graduate=1) educyrs=16.
if (educ=5sand graduate=2 and dropyr>=1) educyrs=12+dropyr-1 .
if(educ=5 and graduate=3 and curryr>=1) educyrs=12+curryr-1 .

if (educ=6 and graduate=1) educyrs=18.
if(educ=6 and graduate=2 and dropyr>=1) educyrs=16+dropyr-1 .
if (educ=6 and graduate=3 and curryr>=1) educyrs=16+curryr-1 .

if (educ=7 and graduate=1) educyrs=22.
if (educ=7 and graduate=2 and dropyr>=1) educyrs=18-+dropyr-1 .
if (educ=7 and graduate=3 and curryr>=1) educyrs=18+curryr-1 .

if (educ=-8 or graduate=-8 or dropyr=-8 or curryr=-8) educyrs=-8.
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KR_ISCD - Country-specific labels: highest completed degree of education

National Language

English Translation

Question no. | #62 Fol+= $TuE o] 7}A] | #62 What is the highest level of school you
and text [=ABESESB b/ have attended?
Codes/ 0. 73t 0. No formal school
Categories | | %% (=7)gtu 1. Elementary school
2. =%l 2. Junior high school
3. 5% 3. High school
4, A8k (2:31d A 4. Junior college (Two or three-yearcourse)
5. o8kl (43 A)) 5. College (Four-year course)
6. e (AA}A) 6. Graduate school (Masters)
7. g (FHAF A 7. Graduate school (PhD)
8. A1, g+et 8. Others (e.g. SeodangyHanhak)
-8. =7t} -8. Don’t know
Question no. | #62.1 Asl= o] sl E | #62.1 Did you graduate*from this school, or

and text =38 5U7 are you currently attending?
Codes/ . =93 1. Graduated
Categories 2. =5 &} 2. Dropped out
3. A8k Folt} 3. Currently attending
-8, 22 -8 Don’t know
-1. v &l =1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note Codes for #62: From the,2006 KGSS, the code ‘graduate school’ in previous years

is separated ifito two'different codes, specifying ‘masters’ and ‘phd’ degrees.

Filter Variable(s) and Conditions:

#62 Ask all

#62.1 To be answered by these who have attended formal school (Codes 1-7 in #62)

Construction/Recoding:

Country.Variable Codes/Construction Rules

2 KR DEGR

If (#62=0) 010. Less than primary: Never attended an
education programme

If (#62=1) 100. Primary education

If (#62=2 and (#62.1=2 or #62.1=3)) 100. Primary education

If (#62=2 and #62.1=1) 244. Lower sec general: Level completion,

incl. direct access to upper sec education

If (#62=3 and (#62.1=2 or #62.1=3))

244.
incl.

Lower sec general: Level completion,
direct access to upper sec education

If (#62=3 and #62.1=1)

344,
incl.

Upper sec general: Level completion,
direct access to tert educ

If (#62=4 and (#62.1=2 or #62.1=3))

344. Upper sec general: Level completion,

incl. direct access to tert educ
If (#62=4 and #62.1=1) 550. Short-cycle tertiary education:
Vocational
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If (#62=5 and (#62.1=2 or #62.1=3))

344. Upper sec general: Level completion,
incl. direct access to tert educ

If (#62=5 and #62.1=1)

640. Bachelor's or equivalent level:
Academic

If (#62=6 and (#62.1=2 or #62.1=3))

640. Bachelor's or equivalent level:
Academic

If (#62=6 and #62.1=1)

740. Master's or equivalent level:
Academic

If (#62=7 and (#62.1=2 or #62.1=3))

740. Master's or equivalent level:
Academic

If (#62=7 and #62.1=1)

840. Doctoral or equivalenty, level:
Academic

If (#62=8)

900. Not elsewhere classified

If (#62=-8 or #62.1=-8)

-9. No answer

Optional: Recoding Syntax

if (educ=0) KR_ISCD= 010.

if (educ=1) KR_ISCD= 100.

if (educ=-8 or graduate=-8) KR ISCD=-9.

if (educ=8) KR ISCD= 900.

if (educ=2 and graduate=3) KR ISCD=100 .
if (educ=2 and graduate=2) KR ISCD=100 .
if (educ=2 and graduate=1) KR ISCD=244 .

if (educ=3 and graduate=3) KR ISCD=244 .
if (educ=3 and graduate=2) KR ISCD=244"
if (educ=3 and graduate=1) KR ISCD=344 .

if (educ=4 and graduate=3) KR ISCD=344 .
if (educ=4 and graduate=2) KRaISCD=344 .
if (educ=4 and graduate=1) KR _ISCD=550 .

if (educ=5 and graduate=3) KR, ISCD=344 .
if (educ=5 and graduate=2)KR ISCD=344 .
if (educ=5 and graduate=1).KR ISCD=640 .

if (educ=6‘and graduate=3) KR _ISCD=640 .
if (edue=6 and graduate=2) KR _ISCD=640 .
if (educ=6r7and graduate=1) KR _ISCD=740 .

if(educ=7 and graduate=3) KR _ISCD=740 .
if (educ=7 and graduate=2) KR _ISCD=740 .
if(educ=7 and graduate=1) KR ISCD=840 .

! Variables ISCED and EDULEVEL are to be computed by the Archive !
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WORK - Currently, formerly, or never in paid work

National Language

English Translation

Question no.

#66 A Tk el U=

o

#66 Do you have a job that provides

and text st AN Y72 income?
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No

8. 220t -8. Don’t know

Question no.

#66.19 =9 A= LS s HAl

#66.19 Have you ever had a paid job?

and text 9l 0 A7k
Codes/ 1.4 1. Yes
Categories 2.9tk 2. No
8. 2=t -8. Don’t know
-1. 8] % -1. Not applicable
Interviewer - -
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

#66 Ask all

#66.19 To be answered by those who are not curtently working (code 2 in #66)

Construction/Recoding:

Country Variable Codes/Construction Rules

=2 WORK

If (#66=1)

1. Currently in paid work

If (#66=2 and #66.19=1)

2. Currently not in paid work, paid work
in the past

If (#66=2 and #66.19=2)

3. Never had a paid work

If (#66=-8 and #66.19=:3).

-9. No answer

Optiongl:*Recoding Syntax

if (incmr=1I"ywork=1.

if (incmr=2 and unwkex=1) work=2.
if(inemr=2 and unwkex=2) work=3.
if (incmr=-8 or unwkex=-8) work=-9.
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WRKHRS - Hours worked weekly

National Language English Translation

Question no. | #66.4 AU H @ A|7F | #66.4 How many hours a week do you
and text QA Y72 usually work?
Codes/ Al ZF Hours
Categories | g = AT} -8. Don’t know

-1. v 3l -1. Not applicable
Question no. | #66.12 AFUo Hy E A|7F | #66.12 How many hours a week do you
and text QA Y72 usually work?
Codes/ Al ZF _____Hours
Categories 8. REArT} -8. Don’t know

-1. v 8l -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#66.4 To be answered by those who are currently employed (cede 1 in WORK)
#66.12 To be answered by those who are currently self-employed (code 1 in WORK)

Country Variable Codes/Construction Rules

= WRKHRS

If (WORK=1) and (#66.4=1 or #66.12=1))

1. One hour

If (WORK=1) and (#66.4>=96.0r #66.12>=96)

96. 96 hours and more

If (WORK=1) and (#66.4=-8 or #66.12=_8))

-8. Don’t know

If (WORK=1) and (#66:4=-1 afd #66.12=-1)) or
(WORK=-9)

-9. No answer

If (WORK=2 or WORK=3)

-4. NAP (Code 2 or 3 in WORK)

Optional: Recoding Syntax

if (work=1 and wgwkhr>=96) wrkhrs=96.

if(work=1 and sfwkhr>=96) wrkhrs=96.

if (work=1 and (wgwkhr=-8 or sfwkhr=-8)) wrkhrs=-8.
if (work=1 and (wgwkhr=-1 and sfwkhr=-1)) wrkhrs=-9.
if (work=2 or work=3) wrkhrs=-4.

if (work=-9) wrkhrs=-9.

if (work=l and (wgwkhr>0 and wgwkhr<96)) wrkhrs=wgwkhr.

if(work=1 and (sfwkhr>0 and sfwkhr<96)) wrkhrs=sfwkhr.
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EMPREL — Employment relationship

National Language

English Translation

Question no. #66 1 Fa7bd 98] a1-8% o] | #66.1 Do you work for someone else?
and text &5 712
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
8. 2=t -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #66.10 1L-8%o] Q1A &t} | #66.10 If not employed, are yowworking
and text LG VAR Y7L, 189 glo) | for the family, self-employeds/with no
e AU, 1e _] o =3 employees, or seclf-employeds with
A S 54U 70 employees?
Codes/ 1. F2 715242 1. Working for the.family
Categories | 2 3189 o] 9= 2} =} 2. Self-employed with no employees
3. 189S F AT 3. Self<employed with employees
-8. 2270t -8. Don’t know
-1. vl -1.Net applicable
Question no. | #66.10.1 (L&Y = = A 2hH) 2L | #66.10.1, (if self-employed  with
and text WS 11833 95y 7 employees) How many employees do
yousemploy?
Codes/ Ué Number of employees:
Categories | _g w2 27\ T} -8. Don’t know
-1 93 -1. Not applicable
Question no. | #66.20 7}  FHTLohsO]® US| #66.20 What type of job did you have at
and text SR 5Y 7 that time?
Codes/ 1. AK-o] 31182l 1. Worked for government
Categories 2. 57149 gl 2. Worked for publicly owned firm
3. Ab7]&de] 3] a1-841 3. Worked for private firm
4. 3-olz)e] 3a1-g2l 4. Worked for non-profit organization
537 SA A 5. Worked for the family
6. 1-Z o] §l= =G =} 6. Self-employed with no employees
7. 1898 F AT 7. Self-employed with employees
-8. 22} -8. Don’t know
-1. ]3] -1. Not applicable

Question no: S = A FHHHH) | #66.20.1 (If you were self-employed
andtext W S 3831957k with employees) How many employees
did you employ?
Codes/ g Number of employees:
Categories | _g 1 2 AT} -8. Don’t know
-1. 88 -1. Not applicable

Interviewer
Instruction

Translation

Note

Note

Filter Variable(s) and Conditions:
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#66.20)

#66.1 To be answered by those who are in current paid work (code 1 in #66)

#66.10 To be answered by those who are currently self-employed (code 2 in #66.1)

#66.10.1 To be answered by those who are currently self-employed with employees (code 3 in 66.10)
#66.20 To be answered by those who have had a paid work (code 2 in WORK)

#66.20.1 To be answered by those who have worked self-employed with employees (code 7 in

Country Variable Codes/Construction Rules

= EMPREL

If (WORK=1 and #66.1=1)
or (WORK=2 and (#66.20>=1 and #66.20<=4))

1. Employee

If (WORK=1 and #66.10=2)
or (WORK=2 and #66.20=6)

2. Self-employed without employees

If (WORK=1 and #66.10=3 and (#66.10.1>=1 and
#66.10.1<=9))
or (WORK=2 and #66.20=7 and (#66.20.1>=1 and
#66.20.1<=9))

3. Self-employed with 1:9 employees

If (WORK=1 and #66.10=3 and #66.10.1>9)
or (WORK=2 and #66.20=7 and #66.20.1>9)

4. Self-employedwwith 10 employees or
more

If (WORK=1 and #66.10=1)
or (WORK=2 and #66.20=5)

5. Working for own family’s business

If (WORK=1 and #66.1=-8) or (WORK=1 and #66.10=-
8) or (WORK=2 and #66.20=-8) or (WORK =1 and
#66.10=3 and #66.10.1=-8) or (WORK =2 and #66.20=7
and #66.20.1=-8) or (WORK=-9)

<9.'No answer

If (WORK=3)

-4. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and emped=1) emprel=1.
if (work=2 and (unstat>=1 and.unstat<=4)) emprel=1.

if (work=1 and sfstat=2).emprel=2.
if (work=2 and unstat=6) emprel=2.

if (work=1 and sfstat=3 and (sfnohi>=1 and stnohi<=9)) emprel=3.
if (work=2 and,unstat=7 and (unnohi>=1 and unnohi<=9)) emprel=3.

if (work=l and‘sfstat=3 and sfnohi>9) emprel=4.
if (work=2.and unstat=7 and unnohi>9) emprel=4.

if (woerk=1"and sfstat=1) emprel=5.
if (work=2 and unstat=5) emprel=5.

if (work=1 and emped=-8) emprel=-9.
if (work=1 and sfstat=-8) emprel=-9.

if (work=2 and unstat=-8) emprel=-9.

if (work=1 and sfstat=3 and sfnohi=-8) emprel=-9.
if (work=2 and unstat=7 and unnohi=-8) emprel=-9.

if (work=-9) emprel=-9.

if (work=3) emprel=-4.
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WRKSUP - Supervise other employees

National Language English Translation
Question no. | #66.14.1 A3H7F QAF-olA 3], | #66.14.1 How many subordinates do you
and text == Kzl Qo] 2 i el have in your workplace whom you
manage and supervise?
Codes/ ] persons
Categories | _g 2 At} -8. Don’t know
-1. v El S -1. Not applicable
Question no. | #66.21 L Y= 3433wl A3}7F 214 | #66.21 Did you have any subordinates in
and text 7y, =5k B3k Z 9l o] | your workplace whom you  directly
9] 91 &1 719 managed and supervised?
Codes/ 1. YA} 1. Yes
Categories 2. 912t} 2. No
8. 2=t -8. Don’t know
-1, v -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#66.14.1 To be answered by those who are.currently working (code 1 in WORK)
#66.21 To be answered by those who are currently net'working but had an experience of ever working
for pay (code 2 in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules = WRKSUP
if (work=1 and #66.14.1>0) or(work=2 and #66.21=1) 1. Yes
if (work=1 and #66.14.1=0) or (work=2 and #66.21=2) 2. No

if (work=1 and #66.14.1=-8) or (work=1 and #66.14.1=-1) | -9. No answer
or (work=2 and #66.21=28) or (work=2 and #66.21=-1) or
(work=-9)

if (work=3) -4. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and numsup>0) wrksup=1.
if(work=2 and unsubo=1) wrksup=1.

if (work=1 and numsup=0) wrksup=2.
if (work=2 and unsubo=2) wrksup=2.

if (work=1 and numsup=-8) wrksup=-9.
if (work=1 and numsup=-1) wrksup=-9.
if (work=2 and unsubo=-8) wrksup=-9.
if (work=2 and unsubo=-1) wrksup=-9.
if (work=-9) wrksup=-9.

if (work=3) wrksup=-4.

Documentation for ISSP background variables, ISSP 2020 onwards © GESIS



13

NSUP — Number of other employees supervised

National Language

English Translation

Question no. | #66.14.1 A3H7F QAFolA g, | #66.14.1 How many subordinates do you
and text == Kzl Qo] 2 i el have in your workplace whom you
manage and supervise?
Codes/ ] persons
Categories | _g 2 At} -8. Don’t know
-1. v El S -1. Not applicable

Question no.

46621 L Ao SIS o) 757t AA

#66.21 Did you have any subordinates in

Instruction

and text 7y, =5k B3k Z 9l o] | your workplace whom you  directly
9l 97k managed and supervised?

Codes/ 1. YA} 1. Yes

Categories 2. 999k 2. No
-8. =27t} -8. Don’t know
-1, v -1. Not applicable

Interviewer | - -

Translation
Note

Note

Filter Variable(s) and Conditions:

| Ask if WRKSUP=1, the respondent is responsible forisupervising other employees

Construction/Recoding:

Country Variable Codes/Construction"Rules

= NSUP

if (wrksup=1 and (#66.14.1>0 and #66.14.1<9995))

1. 1 employee

if (wrksup=1 and #66u14:1>=9995)

9995. 9995 employees or more

if (wrksup=1 and #66.21=1) or (wrksup=-9)

-9. No answer

if (wrksup=2) or (wrksup=-4)

-4. NAP. (Code 2, -4 in WRKSUP)

Optional: Recoding Syntax

if (weksup=1 and unsubo=1) nsup=-9.
if (wrksup=-9) nsup=-9.

if (wrksup=2) nsup=-4.
if (wrksup=-4) nsup=-4.

if (wrksup=1and (numsup>0 and numsup<9995)) nsup=numsup.
if (wrksup=Ilsand numsup>=9995) nsup=9995.
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TYPORGL1 - Type of organisation, for-profit/non-profit

National Language

English Translation

Question no. | #66.1 w7kl 28] 11-8% o] | #66.1 Do you work for someone else?
and text &7k
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
-8, =7 -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #66.6 13t 242 AE F7]4Y, | #66.6 Are you employed by the
and text A9, Fel7] F  o]r]of | government, a publicly owned/firms a
sy 7k private  firm, or @ Hnon-profit
organization?
Codes/ 1. 45 1. Government
Categories | 2 7] 2. Publicly owned firm
34719 3. Private firm
4. F° 713 4. Non-profiterganization
8. 227 -8. Don't know
-1.8]8 % -1. Not applicable
Question no. | #66.10 -85 o] x|  &hdE 14#66.10 If not employed, are you working
and text TLF7tE2AAA Y7L, 18- glo)y for, the family, self-employed with no
A9dL AU}, u1ede T employees, or self-employed with
AFS1 S FHA 719 employees?
Codes/ 1. F3 715 AR} 1. Working for the family
Categories | 2 7189 o] Q1+ =} = 2. Self-employed with no employees
3. 189S F AL 3. Self-employed with employees
-8. 2=t -8. Don’t know
-1. 1] 89 -1. Not applicable
Question no. | #6620 Z}4 & Zo ofwl US| #66.20 What type of job did you have at
and text 33 5471 that time?
Codes/ 1. Aol g g9l 1. Worked for government
Categories 2. 57199 389l 2. Worked for publicly owned firm
3. A1 Y) ¥ g-el 3. Worked for private firm
4. g2l 7)1 ua182l 4. Worked for non-profit organization
5. G 7EEAAL 5. Worked for the family
6. 1-8Uo] Y= A A} 6. Self-employed with no Employees
7. 1898 F AT 7. Self-employed with employees
-8. 2=t -8. Don’t know
-1. 93] -1. Not applicable
Interviewer | - -
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work
#66.1 To be answered by those who work for someone else (code 1 in WORK)
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#66.6 To be answered by those who work for someone else (code 1 in WORK)

#66.10 To be answered by those who work for the family or self-employed (code 1 in WORK)
#66.20 To be answered by those who are currently not working but has ever worked for pay (code 2
in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules = TYPORGI1

If (WORK=1 and (#66.6=2 or #66.6=3)) 1. For-profit organisation
or (WORK=1 and (#66.10=1 or #66.10=2 or #66.10=3))
or (WORK=2 and (#66.20=2 or #66.20=3 or #66.20=5 or
#66.20=6 or #66.20=7))

If (WORK=1 and (#66.6=1 or #66.6=4)) 2. Non-profit organisation
or (WORK=2 and (#66.20=1 or #66.20=4))

If (WORK=1 and #66.1=-8) or (WORK=1 and #66.6=- | -8. Don’t know
8) or (WORK=1 and #66.10=-8) or (WORK=2 and
#66.20=-8)

If (WORK=1 and #66.6=-1) or (WORK=1 and #66.10=- | -9. No answer
1) or (WORK=2 and #66.20=-1) or (WORK=9)

If (WORK=3) -4. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgsect=2 or wgsect=3)) typorgl=I.
if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorgl=1.
if (work=2 and (unstat=2 or unstat=3 or unstat=5"orunstat=6 or unstat=7)) typorgl=1.

if (work=1 and (wgsect=1 or wgsect=4)) typorgl=2:
if (work=2 and (unstat=1 or unstat=4)) typorgl=2.

if (work=1 and emped=-8) typorgl=-8.
if (work=1 and wgsect=-8) typorg1=-8:
if (work=1 and sfstat=-8)styporg1=-8:
if (work=2 and unstat=-8) typorg1=-8.

if (work=-9) typorgl1=-9.

if (work=3) typorgl=-4.
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TYPORG2 - Type of organisation, public/private

National Language

English Translation

Question no. | #66.1 w7kl 28] 11-8% o] | #66.1 Do you work for someone else?
and text &7k
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
-8, =7 -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #66.6 13t 242 AE F7]4Y, | #66.6 Are you employed by the
and text A4, ol 7| = ojtjof | government, a publicly owned/firm; a
sy 7k private  firm, or @ Hnon-profit
organization?
Codes/ 1. 45 1. Government
Categories | . 27]¢] 2. Publicly owned firm
3. A7 <] 3. Private firm
4. F° 713 4. Non-profiterganization
8. 227 -8. Don’t know
-1.8]8 % -1. Not applicable
Question no. | #66.10 -85 o] x|  &hdE 14#66.10 If not employed, are you working
and text TLF7tE2AAA Y7L, 18- glo)y for, the family, self-employed with no
A9dL AU}, u1ede T employees, or self-employed with
AFS1 S FHA 719 employees?
Codes/ 1. 3754} 1. Working for the family
Categories 2. 8o gl 2 AL 2. Self-employed with no employees
3. 189S F AL 3. Self-employed with employees
-8. 2=t -8. Don’t know
-1.8]8] -1. Not applicable
Question no. | #6620 Z}4 & Zo ofwl US| #66.20 What type of job did you have at
and text 33 5471 that time?
Codes/ 1. Aol g g9l 1. Worked for government
Categories | 2 ¥-7]¢]¢) 3] 31891 2. Worked for publicly owned firm
3 A7) 9] ¥ a8l 3. Worked for private firm
4. g2l 7)1 ua182l 4. Worked for non-profit organization
5. 272 AR} 5. Worked for the family
6. LgYo] gl =G =} 6. Self-employed with no Employees
7. 1898 F AT 7. Self-employed with employees
-8, EE2Y -8. Don’t know
-1. 98 -1. Not applicable
Interviewer | - -
Instruction

Translation

Note

Note

Filter Variable(s) and Conditions:

Ask if WORK=1 or 2, respondent in current or past paid work
#66.1 To be answered by those who work for someone else (code 1 in WORK)
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#66.6 To be answered by those who work for someone else (code 1 in WORK)

#66.10 To be answered by those who work for the family or self-employed (code 1 in WORK)
#66.20 To be answered by those who are currently not working but has ever worked for pay (code 2
in WORK)

Construction/Recoding:

Country Variable Codes/Construction Rules = TYPORG2
If (WORK=1 and (#66.6=1 or #66.6=2)) 1. Public employer
or (WORK=2 and (#66.20=1 or #66.20=2))
If (WORK=1 and (#66.6=3 or #66.6=4)) 2. Private employer

or (WORK=1 and (#66.10=1 or #66.10=2 or #66.10=3))
or (WORK=2 and (#66.20=3 or #66.20=4 or #66.20=5 or
#66.20=6 or #66.20=7))

If (WORK=1 and #66.1=-8) or (WORK=1 and #66.6=- | -8. Don’t know
8) or (WORK=1 and #66.10=-8) or (WORK=2 and
#66.20=-8)

If (WORK=1 and #66.6=-1) or (WORK=1 and #66.10=- | -9. No answer
1) or (WORK=2 and #66.20=-1) or (WORK=9)

If (WORK=3) -4. NAP (Code 3 in WORK)

Optional: Recoding Syntax

if (work=1 and (wgsect=1 or wgsect=2)) typorg2=1.
if (work=2 and (unstat=1 or unstat=2)) typorg2=1.

if (work=1 and (wgsect=3 or wgsect=4)) typorg2=2.
if (work=1 and (sfstat=1 or sfstat=2 or sfstat=3)) typorg2=2.
if (work=2 and (unstat=3 or unstat=4 or unstat=>5,or unstat=6 or unstat=7)) typorg2=2.

if (work=1 and emped=-8) typorg2=-§.
if (work=1 and wgsect=-8) typorg2=-8.
if (work=1 and sfstat=-8) typorg2=-8.
if (work=2 and unstat=-8) typorg2=-8.

if (work=-9) typorg2=-9.

if (work=3) typorg2=-4.
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ISCO08 - Occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s occupation used in your
field questionnaire. If ISCO08-codes are not coded directly from the responses, but derived
from a country-specific occupation coding scheme, please provide a table of correspondence
between country-specific and ISCO08 codes attached as a separate file. Also when you
derive ISCO08 from another ISCO scheme, such as 1SCO88, ISCO-COM (a variant
developed for the European Union (EU)), or 1ISCO88-CIS developed by the Statistical
Committee of the Commonwealth of Independent States, please document the source code
and provide a correspondence list.

Please do not enter standard ISCO08 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCO08. Occupational area-0"(Armed
Forces occupations) needs some special attention. Since the ISCO variable is numeric, 4-
digit codes starting with zero, such as 0110 will usually appear as 110.in the data file. It is
therefore suggested that the only valid 3-digit codes in the data file are those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the occupation may be insufficient for 4-digit
coding. Instead of coding these cases as [-8] “inadequately described” use 3-digit coding. In
those very special cases where 3-digit coding is applied, fill in a zero for the missing digit.
Example: code 131 is coded as 1310.

National Language English Translation

Question no. #67 Aol SE WA A ofw | #67 What kind of work do you normally
and text ZT20o] d8mall Uz 44 o= | do? What do you actually do in that job?
aresg) =AA S A AL A L1 If current.ly not working, tell me about
siehel 7P 24 s ol sy | Yourlastiod

dell T ALS

Codes/ 0710. (ISCO08 unit code) 0110. (ISCOO08 unit code)
Categories

;lseggzggfmm -8, 2tk -8. Don't know

-1.8]8 % -1. Not applicable

Interviewer - -
Instruction

Translation -
Note

Note -

Use of ISCO ISCO08 (ILO) “

Please specify any other source code
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Filter Variable(s) and Conditions:

#67 To be answered by those who are currently working or those who have ever worked for pay
(code 1 and code 2 in WORK)
Construction/Recoding:
Country Variable Codes/
Construction Rules > ISCO08
If (WORK=1 and #67=0110) 0110. (ISCOO08 unit codes)
or (WORK=2 and #67=0110)
If (WORK=1 and #67=9629) 9629. (ISCOO08 unit codes)
or (WORK=2 and #67=9629)
If (WORK=1 and #67=-8) -8. Don’t know; inadequately described
or (WORK=2 and #67=-8)
If (WORK=1 and #67=-1) -9. No answer
or (WORK=2 and #67=-1)
or (WORK=9)
If (WORK=3) -4. NAP (Code 3'in WORK)

Optional: Recoding Syntax
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MAINSTAT — Main status

National Language English Translation
Question no. | #52.1.7 (4 %) FAst= A& | #52.1.7 (Employment status) Are you
and text Folo] 9= A8 slar Y57 currently working for pay?
Codes/ 1. #:4 1. Employed
Categories 2.11H 2. Not employed
-8, =7 -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #52.1.8 (Y&}l YA evpH) A3k | #52.1.8 (If not working) Whatyis the
and text QA o 1A FQa3 o] | primary reason for not working?
29197
Codes/ 01. &g 01. Under the schooling age
Categories | (2. 2|3} 02. Schooling
03. 7FA+ 03. Housework
04. =78 04. Old age
05. 24 05. Illness
06. 1417l 06. Disabled
07. A A 54 07.Temporarily not working
08. 2 2] 08. Unemployed
09. = 09. Retired
10. A d & =& 10. Retired under the age limit
11. F g =m) 11. Looking for employment
12. 5% 12. Studying
13. 4o 13. Enlistment
14. A 2 o)) 14. Business failure
15. HA A28 15. No plans for getting employed
17. =17 o)+ 17. Religious reasons
18. 7} = w.7] &8l 18. To look after family
19. 37 58 $lolA 19. Has no ability to get employed
77716k (- ) 77. OTHER (SPECIFY: )
-8. L EAT} -8. Don’t know
.88 -1. Not applicable
Interviewer | - -
Instruction
Translation -
Note
Note, -

Filter Variable(s) and Conditions:

#52.1.7 Ask all
#52.1.8 To be answered by those who are currently not working (code 2 in #52.1.7)

Construction/Recoding:

Country Variable Codes/Construction Rules

= MAINSTAT

If (#52.1.7=1)

1. In paid work

If (#52.1.8=8 or #52.1.8=11 or #52.1.8=14)

2. Unemployed and looking for a job

If (#52.1.8=2 or #52.1.8=12)

3. In education
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4. Apprentice or trainee

If (#52.1.8=5 or #52.1.8=6) 5. Permanently sick or disabled

If (#52.1.8=9 or #52.1.8=10) 6. Retired

If (#52.1.8=3 or #52.1.8=18) 7. Domestic work

If (#52.1.8=13) 8. In compulsory military service or

community service

If (#52.1.8=4 or #52.1.8=7 or #52.1.8=15 or #52.1.8=17 | 9. Other
or #52.1.8=19 or #52.1.8=77)

If (#52.1.8=-8) -9. No answer

Optional: Recoding Syntax

if (emply=1) mainstat=1.

if (whynoe=8 or whynoe=11 or whynoe=14) mainstat=2.

if (whynoe=2 or whynoe=12) mainstat=3.

if (whynoe=5 or whynoe=6) mainstat=5.

if (whynoe=9 or whynoe=10) mainstat=6.

if (whynoe=3 or whynoe=18) mainstat=7.

if (whynoe=13) mainstat=8.

if (whynoe=4 or whynoe=7 or whynoe=15 or whynoe=17 or whynoe=19 orwhynoe=77) mainstat=9.
if (whynoe=-8) mainstat=-9.
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PARTLIV - Living in steady partnership

National Language

English Translation

Question no.

#52.2.1,#52.3.1, #52.4.1, #52.5.1,

#52.2.1,#52.3.1, #52.4.1, #52.5.1,

and text #52.6.1, #52.7.1, #52.8.1, #52.9.1, #52.6.1, #52.7.1, #52.8.1, #52.9.1,
#52.10.1 -3 AFeFe] A #52.10.1 Relation to respondent

Codes/ 02. B -$-=} 02. Spouse

Categories

25. o] s Hk=}

25. Partner

Question no.

#52.2.5,#52.3.5, #52.4.5, #52.5.5,

#52.2.5,#52.3.5, #52.4.5, #52.5.5,

and text #52.6.5, #52.7.5, #52.8.5, #52.9.5, #52.6.5, #52.7.5, #52.8.5,#52.9.5,
#52.10.5 0] & x| Aol A] &4 | #52.10.5 Is [person] liying ifi your
231 Q5 Y 7F? ZFA] HoF LA house, or is [person]temporarily living
231 9) U7k elsewhere?

Codes/ 1. =7 1. Cohabiting

Categories | 2 1] %7 2. Livingisomewhere else
8. 22t -8. Don’t know
-1. 98 1. Notapplicable

Translation -

Note

Note -

Filter Variable(s) and Conditions:

| #52.2.5 To be answered by those who married respondent

Construction/Recoding:

Country Variable Codes/Construction Rules

= PARTLIV

If (#52.@.1=2 and #52.@s5=1) or (#52.@.1=25
and #52.@.5=1)

1. Yes, have partner; live in same household

If (#52.@.1=2 and #52.@:5=2) or (#52.@.1=25
and #52.@.5=2)

2. Yes, have partner; don’t live in same
household

If (#52.2.5=-1)

3. No partner

-7. Refused

-9. No answer

Optional: Recoding Syntax

if(away2=-1) partliv=3.

if (relate2=2 and away2=1) partliv=1.
if (relate2=2 and away2=2) partliv=2.
if (relate3=25 and away3=1) partliv=1.
if (relate3=25 and away3=2) partliv=2.
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SPWORK - Spouse, partner: currently, formerly or never in paid work

National Language English Translation

Question no. | #68 & A F st vl-$A+= o] | #68 Does your spouse have a job that
and text Q= AS st AANY7 provides income?
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No

-8, =7 -8. Don’t know

-1, vl -1. Not applicable
Question no. | #68.17 Bl-$A+= Y U= LS | #68.17 Has your spouse ever had,a paid
and text A Ad o] Qo7 job?
Codes/ 1. At} 1. Yes
Categories 2.9t 2. No

-8, =7 -8. Don’t know

-1. 8] 8 % -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#68 Ask all

#68.17 To be answered by those who are net currently working (code 2 in #60)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWORK

If (PARTLIV=1 and #68=1)
or (PARTLIV=2 and #68=1)

1. Currently in paid work

If (PARTLIV=1 and #68=2 and #68.17=1)
or (PARTLIV=2 and #68=2 and #68.17=1)

2. Currently not in paid work, paid work in
the past

If (PARTLIV=1 and #68=2 and #68.17=2)
or (PARTLIV=2 and #68=2 and #68.17=2)

3. Never had paid work

If (#68=-8)or (#68.17=-8) or (PARTLIV=-9)

-9. No answer

If (PARTLIV=3) or (PARTLIV=-7)

-4. NAP (Code 3 or -7 in PARTLIV)

Optional: Recoding Syntax

if(partliv=1 and spincmr=1) spwork=1.
if (partliv=2 and spincmr=1) spwork=1.

if (partliv=1 and spincmr=2 and spunwkex=1) spwork=2.
if (partliv=2 and spincmr=2 and spunwkex=1) spwork=2.

if (partliv=1 and spincmr=2 and spunwkex=2) spwork=3.
if (partliv=2 and spincmr=2 and spunwkex=2) spwork=3.

if (spincmr=-8) spwork=-9.
if (spunwkex=-8) spwork=-9.
if (partliv=-9) spwork=-9.
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if (partliv=3) spwork=-4.
if (partliv=-7) spwork=-4.
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SPWRKHRS - Spouse, partner: hours worked weekly

National Language English Translation

Questionno. | #68.4 AFUo| H 2 A7+ | #68.4 How many hours a week does your
and text A A Y712 spouse usually work?
Codes/ Al ZF hours
Categories | g .27 -8 Don’t know

-1. v 3l -1. Not applicable
Questionno. | #68.11 UFUe] i+ 2 A7+ | #68.11 How many hours a week does
and text QA Y72 your spouse usually work?
Question no. Al 7+ hours
and text s m=Ar1} -8 Don’t know

-1. v 8l -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

#68.4 To be answered by those who are currently employed (code'1 in spwork)
#68.11 To be answered by those who are currently self-employed (code 1 in spwork)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWRKHRS

If (SPWORK=1) and (#68.4=1 or#68.11=1))

1. 1 hour

If ((SPWORK=1) and( (#68.4>=96 or
#68.11>=96)

96. 96 hours or more

If (SPWORK=1) and (¥68.4=-8 or#68.11=-8))

-8. Don’t know

If (SPWORK=1) anidy(#68.4=1 and #68.11=-
1)) or (SPWORK=-9)

-9. No answer

If (SPWORK=-4 lor
SPWORK=3)

SPWORK=2 or

-4. NAP (Code -4, 2 or 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and spsfwkhr>=96) spwrkhrs=96.

if (spwork=1 and spwgwkhr=-8) spwrkhrs=-8.
if (spwork=1 and spsfwkhr=-8) spwrkhrs=-8.

if (spwork=-9) spwrkhrs=-9.

if (spwork=1 and spwgwkhr>=96) spwrkhrs=96.

if (spwork=1.and (spwgwkhr>0 and spwgwkhr<96)) spwrkhrs=spwgwkhr.
if(spwork=1 and (spsfwkhr>0 and spsfwkhr<96)) spwrkhrs=spsfwkhr.

if (spwork=1 and (spwgwkhr=-1 and spsfwkhr=-1)) spwrkhrs=-9.

if (spwork=-4 or spwork=2 or spwork=3) spwrkhrs=-4.
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SPEMPREL - Spouse, partner: employment relationship

National Language

English Translation

Question no. | #68.1 WA= Fa7Fo] 298 | #68.1 Does your spouse work for
and text 185 d5U7 someone else?
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
-8, =7 -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #68.9  11-8 %] 0] QA & | #68.9 If not employed, is yoursspouse
and text LG 7VEEAAI Y7L, 189 glo] | working for the family, self-employed
Aede A7, 1eYde T with no employees, orgsclf-employed
A S 514U 70 with employees?
Codes/ 1. F2 715242 1. Working for the<family
Categories | 2 3189 o] 9= 2} =} 2. Self-employed with no employees
3. 189S F AT 3. Self-employed with employees
-8, 2=t -8. Don’t know
-1. 8] 8]F =1. Not.applicable
Question no. | #68.9.1 (L&Y S & AFF5EhH) 2 | #66.9.1 , (if  self-employed  with
and text WE 7833 QS5 7 employees) How many employees does
yoursSpouse employ?
Codes/ v Number of employees:
Categories | _g w27t} -8. Don't know
-1. 8] 8] -1. Not applicable
Question no. | #68.18 W|-$-Al+= 7P 5o oW | #68.18 What type of job did your
and text QS 514571 spouse have at that time?
Codes/ 1. AH-o] ¥ 18¢l 1. Worked for government
Categories 2. 3714 ol @argel 2. Worked for publicly owned firm
3. A7) Ge) u] 21821 3. Worked for private firm
4. 3ol 7| o)) arg-2l 4. Worked for non-profit organization
5. a9V ESSA A 5. Worked for the family
6. 1220} §l= =g =} 6. Self-employed with no Employees
7 189S F AT 7. Self-employed with employees
-8. Don’t know

-1. Not applicable

Qitestion no. T A o) | #66.18.1 (if your spouse were self-
and text W S 3183957k employed with employees) How many
employees did your spouse employ?
Codes/ g Number of employees:
Categories | _g 1w 2 AT} -8. Don’t know
-1. 88 -1. Not applicable

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

| #68.1 To be answered by those who are in current paid work (code 1 in #68)
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#68.9 To be answered by those who are currently self-employed (code 2 in #68.1)

#68.9.1 To be answered by those who are currently self-employed with employees (code 3 in 68.9)
#68.18 To be answered by those who have had a paid work (code 2 in SPWORK)

#66.18.1 To be answered by those who have worked self-employed with employees (code 7 in #68.18)

Construction/Recoding:

Country Variable Codes/Construction Rules = SPEMPREL
if (SPWORK=1 and #68.1=1) 1. Employee
or (SPWORK=2 and (#68.18>=1 and #68.18<=4))
if (SPWORK=1 and #68.9=2) 2. Self-employed without employees

or (SPWORK=2 and #68.18=6)
if (SPWORK=1 and #68.9=3 and (#68.9.1>=1 | 3. Self-employed with 1-9 employees
and #68.9.1<=9))

or (SPWORK=2 and #68.18=7 and (#68.18.1>=1
and #68.18.1<=9))

if (SPWORK=1 and #68.9=3 and #68.9.1>9) 4. Self-employed with 10 employees or more
or (SPWORK=2 and #68.18=7 and #68.18.1>9)

if (SPWORK=1 and #68.9=1) 5. Working for own family’s business
or (SPWORK=2 and #68.18=5)
if (SPWORK=1 and #68.1=-8) -9. No answer

or (SPWORK=1 and #68.9=-8)

or (SPWORK=2 and #68.18=-8)

or (SPWORK=1 and #68.9=3 and #68.9.1=-8)
or (SPWORK=2 and #68.18=7 and #68.18.1=-8)
or (SPWORK=-9)

if (SPWORK=3) -4.NAP (Code -4, 3 in SPWORK)
or (SPWORK=-4)

Optional: Recoding Syntax

if (spwork=1 and spemped=1) spemprel=1.
if (spwork=2 and (spunstat>=1 and spunstat<=4)) spemprel=1.

if (spwork=1 and spsfstat=2) spemprel=2.
if (spwork=2 and spunstat=6)spemprel=2.

if (spwork=1"and spsfstat=3 and (spsfnohi>=1 and spsfnohi<=9)) spemprel=3.
if (spwork=2 and spunstat=7 and (spunnohi>=1 and spunnohi<=9)) spemprel=3.

if (spwork=1 and spsfstat=3 and spsfnohi>9) spemprel=4.
if (spwork=2/and spunstat=7 and spunnohi>9) spemprel=4.

if (spwork=1 and spsfstat=1) spemprel=5.
if (spwork=2 and spunstat=5) spemprel=5.

if (spwork=1 and spemped=-8) spemprel=-9.
if (spwork=1 and spsfstat=-8) spemprel=-9.
if (spwork=2 and spunstat=-8) spemprel=-9.

if (spwork=1 and spsfstat=3 and spsfnohi=-8) spemprel=-9.
if (spwork=2 and spunstat=7 and spunnohi=-8) spemprel=-9.

if (spwork=-9) spemprel=-9.
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if (spwork=3) spemprel=-4.
if (spwork=-4) spemprel=-4.
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SPWRKSUP - Spouse, partner: supervise other employees

National Language

English Translation

Question no. | #68.12.1 F 3l wj9-=}7} HF-o 4] | #68.12.1 How many subordinates does
and text e, EsteE Helx o] @ | your spouse have in the workplace
m el 749 whom s/he manages and supervises?
Codes/ 5| Persons
Categories | _g 11 = AT} -8. Don't know
-1.8]8 % -1. Not applicable
Question no. | #68.19 1 AL 35S w #A3te] | #68.19 Did your spouse have any
and text ) 9217} 214 #e], 7}=3}= K5} | subordinates in the workplace” whom
2 2] 0] 9125171 s/he directly managed and supervised?
Codes/ 1. AA T} 1. Yes
Categories 2. 99tk 2. No
-8, 222 -8. Don't know
-1. vl -1. Not applicable
Interviewer | - -
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

#68.12.1 To be answered by those who areseurrently working (code 1 in SPWORK)
#68.19 To be answered by those who are currently not'working but had an experience of ever working
for pay (code 2 in SPWORK)

Construction/Recoding:

Country Variable Codes/Construction Rules

= SPWRKSUP

or (SPWORK=2 and #68.19=-8)

If (SPWORK=1 and #68.12.1>0) 1. Yes

or (SPWORK=2 and #68.19=1)

If (SPWORK=1 and #68.12.1=0) 2.No

or (SPWORK=2 and #68¢19=2)

If (SPWORK=1 and #68.12.1=-8) -8. Don’t know

If (SPWORK=1"and #68.12.1=-1)
of (SPWORK=2 and #68.19=-1)
Or.(SPWORK=-9)

-9. No answer

If (SPWORK=3)
or(SPWORK=-4)

-4. NAP (Code -4, 3 in SPWORK)

Optional: Recoding Syntax

if (spwork=1 and spnumsup>0) spwrksup=1.
if (spwork=2 and spunsubo=1) spwrksup=1.

if (spwork=1 and spnumsup=0) spwrksup=2.
if (spwork=2 and spunsubo=2) spwrksup=2.

if (spwork=1 and spnumsup=-8) spwrksup=-8.
if (spwork=2 and spunsubo=-8) spwrksup=-8.
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if (spwork=1 and spnumsup=-1) spwrksup=-9.
if (spwork=2 and spunsubo=-1) spwrksup=-9.

if (spwork=-9) spwrksup=-9.

if (spwork=3) spwrksup=-4.
if (spwork=-4) spwrksup=-4.
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SPISCO08 - Spouse, partner: occupation ISCO 2008

Please give the text of the source question(s) on the respondent’s spouse occupation used in
your field questionnaire. If ISCO08-codes are not coded directly from the responses, but
derived from a country-specific occupation coding scheme, please provide a table of
correspondence between country-specific and 1ISCO08 codes attached as a separate file.
Also when you derive ISCO08 from another ISCO scheme, such as ISCO88, ISCO-COM (a
variant developed for the European Union (EU)), or ISCO88-CIS developed by the
Statistical Committee of the Commonwealth of Independent States, please document the
source code and provide a correspondence list.

Please do not enter standard ISCO08 codes here, but report any deviations. However,
please note that country-specific codes, which are not part of the ISCO coding scheme
cannot be accepted!

Occupations should be coded on the 4-digit level of ISCO08. Occupational area-0"(Armed
Forces occupations) needs some special attention. Since the 1ISCO variable is numeric, 4-
digit codes starting with zero, such as 0110 will usually appear as 110.in the data file. It is
therefore suggested that the only valid 3-digit codes in the data file are those armed forces
occupations 110, 210 and 310.

In some special cases information concerning the occupation may be insufficient for 4-digit
coding. Instead of coding these cases as [-8] “inadequately described” use 3-digit coding. In
those very special cases where 3-digit coding is applied, fill in a zero for the missing digit.
Example: code 131 is coded as 1310.

National Language English Translation
Question no. #69 7 3te] v §-AFE of W Ak] ol A | #69 What kind of work does your spouse
and text o FFee 18- 34179 | normally do? What does s/he  actually
TA A o B WA Q. F ) do in that job? If currently not working,
oS &A %L_,_ i 714 H o tell me about his/her last job.
P del oA Eae] AL
Codes/ 0710. (ISCO08 unit code) 0110. (ISCOO08 unit code)
Categories
;’Seggo’gg Jiom 158w = gy 8. Don't know
-1.8]8 % -1. Not applicable
Interviewer - -
Instruction
Translation -
Note
Note -
Use of ISCO | |5co08 (ILO) 7
Please specify any other source code
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Filter Variable(s) and Conditions:

#69 To be answered by those who are currently working or those who have ever worked for pay
(code 1 in SPWORK and code 2 in SPWORK)

Construction/Recoding:

Country Varl.able Codes/ S5 SPISCO08
Construction Rules
If (SPWORK=1 and #69=0110) 0110. (ISCOO08 unit codes)
or (SPWORK=2 and #69=0110)
If (SPWORK=1 and #69=9629) 9629. (ISCO08 unit codes)
or (SPWORK=2 and #69=9629)
If (SPWORK=1 and #69=-8) -8. Don’t know; inadequately described
or (SPWORK=2 and #69=-8)
If (SPWORK=1 and #69=-1) -9. No answer
or (SPWORK=2 and #69=-1)
or (SPWORK=9)
If (SPWORK=-4) -4. NAP (Code +4;73 in SPWORK)
or (SPWORK=3)

Optional: Recoding Syntax
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SPMAINST — Spouse, partner: main status

National Language

English Translation

Question no. | #68 & A F st vl-$A+= o] | #68 Does your spouse have a job that
and text Q= AS st AANY7 provides income?
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
-8, =7 -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #522.7 (A FAF) #Aste] wl-$-A= | #52.2.7 (Employment status)~Is your
and text A3 9ol 9= A8 sl | spouse currently working for pay?
215174
Codes/ 1.#HY 1. Employed
Categories 2.11H 2. Not employed
Question no. | g w1 = 7 c} -8. Don't kilow
and text -1.¥)8 -1. Not applicable
Question no. | #52.2.8 (¥3alaL A rpH) sl | #52.2.8 (If not working) What is the
and text Qg o A F93 o]f= | primary reason for not working?
ol H 72
Codes/ 01. st m) 01. Under the schooling age
Categories | (2. 2|3} 02.'Schooling
Question no. | g3 71 x} 03. Housework
and text 04, -2 04. Old age
05. A 05. Illness

06. 2 A1 7o

==

06. Disabled

07. YA F4 07. Temporarily not working
08. A & 08. Unemployed

09. 2 ¥ 09. Retired

10. 4 AEH 10. Retired under the age limit
11. FAF e 11. Looking for employment
1208 4% 12. Studying

13. 74 i 13. Enlistment

14 A e 14. Business failure

15. AL ¢l 2

15. No plans for getting employed

17. T304 o]

17. Religious reasons

18. 71 = 1.7] 93l 18. To look after family

19. # 9 52 glojA 19. Has no ability to get employed
7. 718 () 77. OTHER (SPECIFY: )

8. EE 7“1:} -8. Don’t know

-1. vl -1. Not applicable

Interviewer
Instruction

Translation
Note

Note

Filter Variable(s) and Conditions:

| #52.2.7 To be answered by those who married respondent (code 1 or 2 in PARTLIV)
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| #52.2.8 To be answered by those who are currently not working (code 2 in #52.2.7)

Construction/Recoding:

Country Variable Codes/Construction Rules = SPMAINST

If (PARTLIV=I1 or PARTLIV=2) and (#68=1)) 1. In paid work

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=8 or | 2. Unemployed and looking for a job
#52.2.8=11 or #52.2.8=14))

If ((PARTLIV=1 or PARTLIV=2) and (#52.2.8=2 or | 3. In education
#52.2.8=12))

4. Apprentice or trainee

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=5 or | 5. Permanently sick or disabled
#52.2.8=6))

If ((PARTLIV=1 or PARTLIV=2) and (#52.2.8=9 or | 6. Retired
#52.2.8=10))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=3 or | 7. Domestic work
#52.2.8=18))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=13)) 8. In compulsorywmilitary service or
community service

If (PARTLIV=1 or PARTLIV=2) and (#52.2.8=4 or | 9. Other
#52.2.8=7 or #52.2.8=15 or #52.2.8=17 or #52.2.8=19 or
#52.2.8=77))

If (PARTLIV=1 or PARTLIV=2) and (#52.2.7=-8)) or | -9. No answer
((PARTLIV=1 or PARTLIV=2) and (#52.2.8=-8)) or
(PARTLIV=9)

If (PARTLIV=3) or (PARTLIV=-7) -4. NAP (Code 3 or -7 in PARTLIV)

Optional: Recoding Syntax

if ((partliv=1 or partliv=2) and (spinémr=1))spmainst=1.

if ((partliv=1 or partliv=2) and (whynoe2=8 or whynoe2=11 or whynoe2=14)) spmainst=2.

if ((partliv=1 or partliv=2).and (whynoe2=2 or whynoe2=12)) spmainst=3.

if ((partliv=1 or partliv=2) and (whynoe2=5 or whynoe2=6)) spmainst=5.

if ((partliv=1 or partliv=2),and (whynoe2=9 or whynoe2=10)) spmainst=6.

if ((partliv=1 or partliv=2) and (whynoe2=3 or whynoe2=18)) spmainst=7.

if ((partliv=1 or partliv=2)@and (whynoe2=13)) spmainst=_8.

if ((partliv=1 or\partliv=2) and (whynoe2=4 or whynoe2=7 or whynoe2=15 or whynoe2=17 or
whynoe2=19,or'whynoe2=77)) spmainst=9.

if ((partliv=1 or partliv=2) and (emply2=-8)) spmainst=-9.
if ((partliv=1ror partliv=2) and (whynoe2=-8)) spmainst=-9.
if (partliv=9) spmainst=-9.

if (partliv=3 or partliv=-7) spmainst=-4.
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UNION = Trade union membership

National Language English Translation
Question no. | #66.7 A3dt= AA 5Tl | #66.7 Are you a union member?
and text 7Fi sk Y7k
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
-8, =7 -8. Don’t know
-1. 98 -1. Not applicable
Question no. | #66.7.1 (ZFQdstal YA LriH) | #66.7.1 (IF NOT UNION MEMBER)
and text A 7k sk Aol Q57 Were you a member of trade” union
before?
Codes/ 1. AAT} 1. Yes
Categories 2. 92t} 2. No
-8, EE -8. Don’t know
-1.¥)8 -1. Not applicable
Interviewer | -
Instructions
Translation -
Note
Note We asked the question of union membershipiexperience only to whom are currently
working for someone else and paid.

Filter Variable(s) and Conditions:

#66.7 To be answered by those who are working for someone else (code 1 in #66.1)
#66.7.1 To be answered by employees whosare currently not a union member (code 2 in #66.7)

Construction/Recoding:

Country Variable Codes/Construction Rules = UNION
If (#66=1 and #66.7=1) 1. Yes, currently
If (#66=1 and #66.7:1=1) 2. Yes, previously but not currently
If (#66=1 and #66.7.1=2) 3. No, never
[f(#66=2) or (#66.1=2) -4. NAP
- -7. Refused
If (#66.1=-8)i0f (#66.7=-8) or if (66.7.1=-8) -9. No answer

Opftional: Recoding Syntax

if (inemt=1 and wgunn=1) union=1.
if (incmr=1 and wgunnp=1) union=2.
if (incmr=1 and wgunnp=2) union=3.
if (incmr=2) union=-4 .

if (emped=2) union=-4 .

if (emped=-8) union=-9 .

if (wgunn=-8) union=-9.

if (wgunnp=-8) union=-9.
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National Language English Translation
Question no. | #25 3= o® FuwE  7FX| 11 | #25 What is your religion?
and text Al A 719
Codes/ 1. 50 1. Buddhism
Categories 2. WA 1 2. Protestant
3. T 3. Catholic
4. &1 gle 4. No religion
77. 71EF (A = T2l ) 77. Other (Specify: )
-8, 222 -8. Don’t know
-1. 83 -1. Not applicable
Interviewer | -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = KR RELIG
If (#25=4) 0. No religion
If (#25=3) 1. Catholic
If (#25=2) 2. Protestant
If (#25=1) 7. Buddhism
If (#25=77) 10. Other Religions
- -7. Refused
If (#25=-8) -9. No answer

Optional: Recoding Syntax

if (relig=1) KRarelig=7.

if (relig=2) KR _relig=2.

if (relig=3) KR relig=1.

if (relig=4)KR “telig=0.
if((relig=77) KR _relig=10.
if (relig=-3) KR relig=-9.
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National Language English Translation
Question no. | #25 F3l= oW® FuwE  7FX| 31 | #25 What is your religion?
and text Al A 719
Codes/ 1. 50 1. Buddhism
Categories 2. WA 1 2. Protestant
3. T 3. Catholic
4. &1 gle 4. No religion
77. 71EF (A = T2l ) 77. Other (Specify: )
-8, 222 -8. Don’t know
-1. 83 -1. Not applicable
Interviewer | -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = RELIGGRP
If (#25=4) 0.No religion
If (#25=3) 1. Catholic
If (#25=2) 2. Protestant
- 3. Orthodox
- 4. Other Christian
- 5. Jewish
- 6. Islamic
If (#25=1) 7. Buddhist
- 8. Hindu
- 9. Other Asian religions
If (#25=T77) 10. Other religions
- -7. Refused
- -8. Information insufficient
1£(#25=-8) -9. No answer

Optional: Recoding Syntax

if (relig=1) RELIGGRP=7.

if (relig=2) RELIGGRP=2.
if (relig=3) RELIGGRP=I.
if (relig=4) RELIGGRP=0.
if (relig=77) RELIGGRP=10.
if (relig=-8) RELIGGRP=-9.
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ATTEND - Attendance of religious services

National Language English Translation

Question no. | #24 F3= Gvly A5 &3 L& | #24 How often do you attend religious
and text o i (m|Ah) =2 2] 7Y 7k services?
Codes/ 1. g5 o) W 1. A few times a week
Categories | 5 2l <lo aF ¥ 2. Once a week

3.5k ol A 3. Two or three times a month

4.3k o] 3k ¥ 4. Once a month

5.4 ol H 1 5. Several times a year

6. Y dof s 6. Once a year

7.4 def 3 ¥ gk 7. Less than once a year

8. A& 71#] =1} 8. Never

8. =t} -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = ATTEND
If (#24=1) 1. Several times a week or more often
If (#24=2) 2. Once a week
If (#24=3) 3.2 or 3 times a month
If (#24=4) 4. Once a month
If (#24=5) 5. Several times a year
If (#24=6) 6. Once a year
If (#24=7) 7. Less frequently than once a year
If (#24=8) 8. Never
- -7. Refused
If (#24=-8) -8. Don’t know
-9. No answer

Optional: Recoding Syntax

ﬁecode attendkr (-8=-8)(else=copy) into attend.
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TOPBOT - Top-Bottom self-placement

National Language English Translation
Question no. | #16 St=AL3] 9] 35S 1% 3}l | #16 Inour society there are groups which
and text HA=S 1002 sitpd  Ass | tend to be towards the top and groups
olt]e] &&tim  AzbsbaL 7k | Which tend to be towards the bottom.
Sez} @ W) 2 A O Below is a scale that runs from top (10)
S =7 T .
to bottom (1). Where would you put
yourself now on this scale?
Codes/ 1. H3= 1. Bottom
Categories 2. 2.
3. 3.
4. 4.
5. 5.
6. 6.
7. 7.
8. 8.
9. 9.
10. H 745 10. Top
-8, EE 8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -
|Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = TOPBOT
if (#16=1) 1. Lowest, Bottom
if (#16=2) 2
if (#16=3) 3
if (#16=4) 4.
if (#16=5) 5.
if (#16=6) 6
if(#16=7) 7
1t (#16=8) 8.
if (#16=9) 9.
if (#16=10) 10. Highest, Top
if (#16=-8) -8. Don’t know
- -9. No answer

Optional: Recoding Syntax

| recode rank (else=copy) into TOPBOT.
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VOTE_LE - Did respondent vote in last general election?

National Language

English Translation

Question no.

#141 F3F= Ayt 2020 49 1599

#141 Did you vote in the 21st National

and text g A1) £33 =X A u] | Assembly election on April 15, 2020?
R S AR

Codes/ 1. X3¢ 1. Voted

Categories | » % 7 3}#] 29kt 2. Did not vote
8. 227 -8. Don’t know
1. 530 gl e -1. Not eligible

Interviewer - -

Instruction

Translation -

Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = VOTE_LE
If (#141=1) L. Yes
If (#141=2) 2. No
- -7. Refused
If (#141=-8) -9. No answer
If (#141=-1) -4. Not eligible to vote at last election

Optional: Recoding Syntax

| recode vote20 (1=1) (2=2) (-8=-9) (-1=4) into vote le.
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KR_PRTY - Country specific party voted for in last general election

National Language English Translation

Question no. | #141.1 (FxIhH) 1 GA] o= | #141.1 (If you have voted) Which party
and text Aol T H o) A TXEHSU 7R candidate did you vote for at the time?
Codes/ . gEo T3 1. Democratic Party of Korea
Categories 2.9 Y= 2. United Future Party

3.7 3. Party for People’s Livelihoods

4. 51| 4. The People’s Party

5. 4999 5. Justice Party

66. 71 ER(] = A I ) 66. Other (Specify: )

77. o} TR A= FH A S | 77. None of these

-8, 220t -8. Don’t know

-1. vl -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

| #141.1 To be answered by those who voted in the 21th National Assembly election (code 1 in #141) |

Construction/Recoding:

Country Variable Codes/Construction Rules

2 KR_PRTY

If (VOTE LE=1 and #141.1=1)

1. Democratic Party of Korea

If (VOTE _LE=I and #141.1=2)

2. United Future Party

If (VOTE_LE=1 and #141.1%3)

3. Party for People’s Livelihoods

If (VOTE_LE=I1 and #141.1=4)

4. The People’s Party

If (VOTE_LE=1 and#141.1=5)

5. Justice Party

If (VOTE_LE=1 afid #141.1=66)

95. Other party

If (VOTE_LE=I and #1414=77)

96. Invalid ballot

-7. Refused

If (VOTE_LE=1 and #141.1=-8)
or (VOTE LE=-9)

-9. No answer

If (VOTE LE=-4) or (VOTE LE=2) or (VOTE LE=-7)

-4.NAP (-4, 2, -7 in VOTE_LE)

Optional: Recoding Syntax

if(vote le=1 and vote201=1) kr prty=1.
if (vote le=1 and vote201=2) kr prty=2.
if (vote le=1 and vote201=3) kr prty=3.
if (vote le=1 and vote201=4) kr prty=4.
if (vote_le=1 and vote201=5) kr_prty=5.
if (vote le=1 and vote201=66) kr prty=95.
if (vote le=1 and vote201=77) kr_prty=96.

if (vote le=1 and vote201=-8) kr prty=-9.
if (vote le=-9) kr_prty=-9.

if (vote le=-4) kr prty=-4.
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if (vote_le=2) kr prty=-4.
if (vote le=7) kr_prty=-4.
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PARTY_LR - Party voted for in last general election: left-right scale

National Language English Translation

Question no. | #141.1 (FxITH) 2 TGA] o] | #141.1 (If you have voted) Which party
and text Aol T H o) A TXEHSU 7R candidate did you vote for at the time?
Codes/ . gEo T3 1. Democratic Party of Korea
Categories 2.9 Y= 2. United Future Party

3.7 3. Party for People’s Livelihoods

4. 51| 4. The People’s Party

5. 4999 5. Justice Party

66. 71 ER(] = A I ) 66. Other (Specify: )

77. o} TR A= FH A S | 77. None of these

-8, 220t -8. Don’t know

-1. vl -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

| #141.1 To be answered by those who voted in the 21th National Assembly election (code 1 in #141) |

Construction/Recoding:

Country Variable Codes/Construction Rules

2 PARTY_LR

If (VOTE LE=I and #141.1=5) 1. Far left (communist, etc.)
If (VOTE _LE=I and #141.1=1) 2. Left / centre left

If (VOTE _LE=I and #141.1=3) 3. Centre / liberal

If (VOTE LE=1 and #141.1=4) 4. Right / conservative

If (VOTE LE=I and #141.1=2) 5. Far right (fascist, etc.)

If (VOTE_LE=I and #141.1=66) 6. Other

- 7. No party affiliation

If (VOTE_LE=land #141.1=77) 96. Invalid ballot

- -7. Refused

-8. Insufficient information to code into
scheme

If (VOTE.LE=1 and #141.1=-8)
oF(VOTE LE=-9)

-9. No answer

If (VOTE LE=-4) or (VOTE LE=2) or (VOTE LE=-7)

-4.NAP (-4,2,-7in VOTE LE)

Optional: Recoding Syntax

if (vote_le=1 and vote201=5) party _Ir=1.
if (vote_le=1 and vote201=1) party Ir=2.
if (vote_le=1 and vote201=3) party_Ir=3.

if (vote_le=1 and vote201=4) party lr=4.

if (vote_le=1 and vote201=2) party Ir=5.
if (vote_le=1 and vote201=66) party Ir=6.
if (vote le=1 and vote201=77) party 1r=96.

if (vote le=1 and vote201=-8) party Ir=-9.
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if (vote_le=-9) party Ir=-9.

if (vote_le=-4) party lr=-4.
if (vote_le=2) party lr=-4.
if (vote le=7) party Ir=-4.
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nat_ ETHN1 — Country-specific: ethnic group 1

National Language English Translation

Question no.

and text

Codes/
Categories

Interviewer
Instruction

Translation
Note

Note

We don’t have this question because Korea is consisted of one ethni¢ group:

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = ETHN1

-7. Refused

-8. Don’t know

-9. No answer

Optional: Recoding Syntax
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nat_ ETHN2 — Country-specific: ethnic group 2

National Language English Translation

Question no.

and text

Codes/
Categories

Interviewer
Instruction

Translation
Note

Note

We don’t have this question because Korea is consisted of one ethni¢ group:

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = nat ETHN2

-7. Refused

-8..Don’t know

=9. No answer

Optional: Recoding Syntax
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HOMPOP - How many persons in household

National Language

English Translation

Question | #52.1.5 - #52.10.5 ©°] ®& A&
no. and text | Aol A A i QIHFU7F? FA
&S W7k AL Sl Y7

#52.1.5 - #52.10.5 Is [PERSON] living in
your house, or is [PERSON] temporarily
living elsewhere?

Codes/ 1. =7

1. Cohabiting

Categories | 2 H] %A

2. Living somewhere else

-1 v

-1. Not applicable

Interviewer | -
Instruction

Translation | -
Note

Note -

Filter Variable(s) and Conditions:

Country Variable Codes/Construction Rules

= HOMPOP

If (#52.1.5 to #52.10.5=1)

L. One person (only respondent)

-9. No answer

-4. Not a private household

Optional: Recoding Syntax

recode away away2 away3 away4.away5S away6 away7 away8 away9 awayl0 (1=1)(else=0) into
hom1 hom2 hom3 hom4 hom5 hom6 hom7 hom8 hom9 hom10.

compute hompop=hom1+hom2+hom3+hom4+hom5+hom6+hom7+hom8+hom9+hom10.
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HHADULT - How many adults in household

National Language English Translation
Question no. | #52.1.5 - #52.10.5 ©] &2 A& | #52.1.5 - #52.10.5 Is [PERSON] living
and text AHo A A A3 9572 #FA] | in your house, or is [PERSON]
Z ol Lp7hA] A1 915U 7k temporarily living elsewhere?
Codes/ 1. =7 1. Cohabiting
Categories | 2 1] %7 2. Living somewhere else
-1. v 8l -1. Not applicable
Question no. | #52.1.3 - #52.10.3 ©] 9] vo]= | #52.1.3 - #52.10.3 Howmold is
and text uto 2 =@ A7 [PERSON]?
Codes/ 18. 184 18. 18 years old
Categories 92. 924 92. 92 years old
-8, =7 -8. Don’t know
-1. v 8l -1. Not applicable
Interviewer | - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowest, highest,"and ‘missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable Codes/Construction Rules = HHADULT
If (hompop>=1 and #52.1.5=1 and #52+1.3>=18) 1. One adult (only respondent)
If (hompop>=1 and #52.1.5=1"and #52.1.3>=18) 5. Five adults
If(#52.1.3 to #52.10.3=:8) or(HOMPOP=-9) -9. No answer
If (HOMOPOP=-4) -4. NAP (Code -4 in HOMPOP)

Optional: Recoding Syntax

compute adult1=0.
computeradult2=0.
compute adult3=0.
compute adult4=0.
compute adult5=0.
compute adult6=0.
compute adult7=0.
compute adult8=0.
compute adult9=0.
compute adult10=0.

if (hompop>=1 and away=1 and agekr>=18) adult1=1.
if (hompop>=1 and away2=1 and old2>=18) adult2=1.
if (hompop>=1 and away3=1 and old3>=18) adult3=1.
if (hompop>=1 and away4=1 and old4>=18) adult4=1.
if (hompop>=1 and away5=1 and old5>=18) adult5=1.
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if (hompop>=1 and away6=1 and old6>=18) adult6=1.
if (hompop>=1 and away7=1 and old7>=18) adult7=1.
if (hompop>=1 and away8=1 and o0ld8>=18) adult8=1.
if (hompop>=1 and away9=1 and o0ld9>=18) adult9=1.
if (hompop>=1 and away10=1 and old10>=18) adult10=1.

compute hhadult = adultl+adult2+adult3+adult4-+adult5+adult6+adult7+adult8-+adult9+adult10.

if (agekr=-8 or 0ld2=-8 or old3=-8 or old4=-8 or old5=-8 or 0ld6=-8 or old7=-8 or 0ld8=-8 or old9=-
8 or 0ld10=-8) hhadult=-9.

if (hompop=-9) hhadult=-9.

if (hompop=-4) hhadult=-4.
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HHCHILDR - How many children in household

National Language

English Translation

Question no.

#52.1.5 A=

- #52.10.5 °] H&

#52.1.5 - #52.10.5 Is [PERSON] living

and text AHo A A A3 9572 #A] | in your house, or is [PERSON]
Z ol Lp7hA] A1 915U 7k temporarily living elsewhere?

Codes/ 1. =7 1. Cohabiting

Categories | 2 "] %7 2. Living somewhere else
-1. v 8l -1. Not applicable

Question no. | #52.1.3 - #52.10.3 ©] 9] vo]= | #52.1.3 - #52.10.3 Howmold is

and text uto 2 =@ A7 [PERSON]?

Codes/ 7. 7A 7.7 years old

Categories 17. 174 17. 17 years old
8. 2=t -8. Don’t know
-1. v 8l -1. Not applicable

Interviewer | - -

Instruction

Translation | -

Note

Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowest, highest,"and ‘missing’ codes only, replace terms in

[square brackets] with real numbers.)

Country Variable Codes/Construction Rules

= HHCHILDR

If ((#52.1.5 to #52.10.5=1) and (#52.13<7 and #52.1.3>17)) or
(#52.2.5 to #52.10.5=2)

0. No children

If (#52.1.5 to #52.10.5=1) and\(#52.1.3>6 and #52.1.3<18))

1. One child

If (#52.1.5 to #52.10.5=1).and (#52.1.3>6 and #52.1.3<18))

3. Three children

If(#52.1.3 to#52.10.3=-8) or (HOMPOP=-9)

-9. No answer

If (HOMPOP=-4)

-4. NAP (Code -4 in HOMPOP)

Optignal: Recoding Syntax

compute child1=0.
compute child2=0.
compute child3=0.
compute child4=0.
compute child5=0.
compute child6=0.
compute child7=0.
compute child8=0.
compute child9=0.
compute child10=0.

if (away=1 and (age>6 and age<18)) child1=1.
if (away2=1 and (0ld2>6 and 0ld2<18)) child2=1.
if (away3=1 and (0ld3>6 and 0ld3<18)) child3=1.
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if (away4=1 and (0ld4>6 and o0ld4<18)) child4=1.
if (away5=1 and (0ld5>6 and 0ld5<18)) child5=1.
if (away6=1 and (0ld6>6 and 0ld6<18)) child6=1.
if (away7=1 and (old7>6 and 0ld7<18)) child7=1.
if (away8=1 and (0ld8>6 and 0ld8<18)) child8=1.
if (away9=1 and (0ld9>6 and 01d9<18)) child9=1.
if (away10=1 and (0ld10>6 and o0ld10<18)) child10=1.

compute
HHCHILDR=child1+child2+child3+child4+child5+child6+child7+child8+child9+child10.

if (age=-8 or o0ld2=-8 or 0ld3=-8 or 0ld4=-8 or 0ld5=-8 or 0ld6=-8 or old7=-8 or 0ld8=-8:6r 0ld9=-8
or old10=-8) HHCHILDR=-9.

if (hompop=-9) HHCHILDR=-9.

if (hompop=-4) HHCHILDR=-4.
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HHTODD - How many toddlers in household

National Language

English Translation

Question no. | #52.1.5 - #52.10.5 ©] & X|&F | #52.1.5 - #52.10.5 Is [PERSON] living
and text AHo A A A3 9572 #FA] | in your house, or is [PERSON]
Z ol Lp7hA] A1 915U 7k temporarily living elsewhere?
Codes/ 1. =7 1. Cohabiting
Categories | 2 "] %7 2. Living somewhere else
-1. v 8l -1. Not applicable

Question no. | #52.1.3 - #52.10.3 ©] 9] vo]= | #52.1.3 - #52.10.3 Howmold is
and text uto 2 =@ A7 [PERSON]?
Codes/ 0. 0A] 0. 0 years old
Categories 6. 64 6. 6 years old
8. 2=t -8. Don’t know
-1. v 8l -1. Not applicable
Interviewer - -
Instruction
Translation | -
Note
Note -

Filter Variable(s) and Conditions:

Construction/Recoding: (list lowest, highest,"and ‘missing’ codes only, replace terms in
[square brackets] with real numbers.)

Country Variable Codes/Construction Rules

= HHTODD

If (#52.1.5 to #52.10.5=1) and (#52.1:35=7))
or (#52.2.5 to #52.10.5=2)

0. No child below 7

If (#52.1.5 to #52.10.5=1) and\(#52.1.3>=0 and #52.1.3<7))

1. One child below 7

If (#52.1.5 to #52.10.5=1).and (#52.1.3>=0 and #52.1.3<7))

3. Three children below 7

If (#52.1.3 to' #52.10.3%:8) or (HOMPOP=-9)

-9. No answer

If (HOMPOP=-4)

-4. NAP (Code -4 in HOMPOP)

Optignal: Recoding Syntax

compute tod1=0.
compute tod2=0.
compute tod3=0.
compute tod4=0.
compute tod5=0.
compute tod6=0.
compute tod7=0.
compute tod8=0.
compute tod9=0.
compute tod10=0.

if (away=1 and (age>=0 and age<7)) tod1=1.
if (away2=1 and (0ld2>=0 and 0ld2<7)) tod2=1.
if (away3=1 and (0ld3>=0 and 0ld3<7)) tod3=1.
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if (away4=1 and (0ld4>=0 and 0ld4<7)) tod4=1.
if (away5=1 and (0ld5>=0 and 0ld5<7)) tod5=1.
if (away6=1 and (0ld6>=0 and 0ld6<7)) tod6=1.
if (away7=1 and (old7>=0 and old7<7)) tod7=1.
if (away8=1 and (0old8>=0 and 0ld8<7)) tod8=1.
if (away9=1 and (0ld9>=0 and 0ld9<7)) tod9=1.
if (away10=1 and (0ld10>=0 and o0ld10<7)) tod10=1.

compute hhtodd=tod1+tod2+tod3+tod4-+tod5+tod6+tod7-+tod8+tod9+tod10.

if (age=-8 or 0ld2=-8 or old3=-8 or 0ld4=-8 or 0ld5=-8 or 0ld6=-8 or 0ld7=-8 or 0ld8=-8 or 0ld9=-8
or 0ld10=-8) hhtodd=-9.

if (hompop=-9) hhtodd=-9.

if (hompop=-4) hhtodd=-4.
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KR_RINC - Country-specific: personal income

National Language

English Translation

Question no. | #66 A A Fst= FUo] A+= YL | #66 Do you have a job that provides
and text sta AR Y 712 income?
Codes/ 1. 18t} 1. Yes
Categories 2. o} t} 2. No
8. 2=t -8. Don’t know
-1. 83 -1. Not applicable
Question no. | #66.15 ©] A JANA &= 252 t=F | #66.15 Before taxes andw, other
and text A Aupd U7 M 3EA| o] 79 | deductions, what is your total monthly
M=z A, 7|BF.Alo]F.Seg SO | average income from thishjob?s This
W= g abale] urkE] 2AA O includes your base pay, bondses, and
other allowances.
Codes/ YT TEAS: il About: MAN(10,000) WON
Categories | g w27t} -8. Don’t know
-1, vl -1. Not applicable
Interviewer | (5% 9 AFole dA5S | (Iftherespondent does not have a regular
Instruction 1270 2 Yol 7198k A) monthly, income (e.g. farmer), then
divide therestimated annual income by
12)
Question no. | #66.16.1 QoA EE&3A A5 | #66:16.1 Beside income from your main

and text olelof  FAsle 7IEF XS job, do you have other sources of
TRAE o)A} A4 L Ay A Sy income? This includes interest or
N e EZ::L T o a5l vy dividends, rent, social security, other
=, 71 O -7 . jL . . .
AolH o s W = SertE o) pensions, alimony or child support,
o] ko] Tle] A 5 public aid (welfare), and armed forces or
25)o] g ol el 5 Uk veteran's allotment.
Codes/ 1. AT} 1. Yes
Categories 2.9t 2. No
-8. RLEZI Tk -8. Don’t know
-1. Bl % -1. Not applicable
Question no. | #66.16.2 YTt  tgF DI | #66.16.2 If any, what is your monthly
and text S2R=1RS) BP/ & average income?
Codes/ 7 et dH# A5 Other Monthly Average Income:
Categories ko) MAN(10,000) WON
8. 22T} -8. Don’t know
-1.8]8 % -1. Not applicable

Question no.

#66.18.1 F3t= o]z}, A2k 2 <)

#66.18.1 Do you have any sources of

and text A5 A, ZE ®Bxg =&  income? This includes interest or
TR EE JolHor u= = dividends, rent, social security, other
=95 mE ataa 2ol Atol peET}onga allrlr;ony ord ch11dd 1csupport,
Zoolghe 94Uzl 9ohd ek public aid (welfare), and armed forces or
-—n oM ©ATT = T D veteran’s  allotment.
L vty

Codes/ 1.4 1. Yes

Categories 2.9t} 2. No
8. 2=t -8. Don’t know

1. v)3l g -1. Not applicable
Codes/ #66.18.2 Ut gk DI #66.18.2 If any, what is your monthly
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Categories Anpel Y7l average income?

A A5 Monthly Average Income:
ulg) MAN(10,000) WON

8. 2271t} -8. Don’t know
-1. vl -1. Not applicable

Translation -

Note

Note

Filter Variable(s) and Conditions:

#66 Ask all

#66.15 Ask only to those who are currently working for pay (code 1 in #66)
#66.16.1 Ask only to those who are currently working for pay (code 1 in #66)
#66.16.2 Ask only to those who have other sources of income (code 1 in #66.16.1)
#66.18.1 Ask only to those who are not currently working for pay (code 2 in #60)
#66.18.2 Ask only to those who have any sources of income (code 1 in#66.18.1)

Construction/Recoding: (If the income information is collected=by. asking for income
classes or brackets, please code class midpoints in local currency and report classes offered
to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes

only)

Country Variable Codes/Construction Rules

2 KR_RINC

If (#66=1 and #66.15>=0 and #66.16.1=1__and, #66.16.2>=0)
KR RINC=#66.15+#66.16.2

or (#66=1 and #66.15>=0 and #66.16.1=2) KR _RINC=#66.15

or (#66=2 and #66.18.1=1 and #66.18.2>=0)' KR\ RINC=#66.18.2

8. 80,000 WON

1450. 14,500,000 WON

If (#66=2 and #66.18.1=2)

0. No income

-7. Refused

If (#66=-8)

or (#66=1 and #66.15=-8)

or (#66=1 and #66.16.1=-8)

or (#66=2 and #66. 18:1==8)

or (#66=1 and #66.15>=0 and#66.16.1=1 and #66.16.2=-8)
or (#66=2 and #66.18.1=1 and #66.18.2=-8)

-8. Don’t know

-9. No answer

Optional: Recoding Syntax

if (incmr=I=and rincom0>=0 and rxtinc=2) kr_rinc=rincomO.

if(incmr=2 and unxtinc=1 and unxtinc0>=0) kr rinc=unxtincO0.
if (incmr=2 and unxtinc=2) kr_rinc=0.

if (incmr=-8) kr_rinc=-8.

if (incmr=1 and rincom0=-8) kr rinc=-8.
if (incmr=1 and rxtinc=-8) kr_rinc=--8.
if (incmr=2 and unxtinc=-8) kr rinc=-8.

if (incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0=-8) kr_rinc=-8.
if (incmr=2 and unxtinc=1 and unxtinc0=-8) kr rinc=-8.

if incmr=1 and rincom0>=0 and rxtinc=1 and rxtinc0>=0) kr_rinc=rincomO-+rxtinc0.
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KR_INC - Country-specific: household income

National Language

English Translation

714 8kaL, HFE*] 3} 56, 57, 58]

A BE BAMEA A5
s5g deldd 9T A

A=
A LI A A

Questionno. | #70 A HAHF FA5L | #70 Before taxes and other deductions,

and text NEFA o]Hde tzF o] A= | whatis the total average monthly income
A7ty Aet=  xstsk  wx= | in your household? This includes all
PRS0 Qe 2RAE ol sources of ipcpme (e.g. work @ncome,
SRR P er Az 7t wED interest or dividends, property income,
5o o176 u ue rent, pensions, welfare support, or the
= T;W PR AE JRlA o= Nk money  personally provided by
= e e B EelA 2 FAA L. | somebody) from all householdmembers

including yourself.

Codes/ dHA 7 F LS 9] | APPROXIMATELY:

Categories MAN(10,000) WON
8. 227t} -8. Don’t know
-1.¥)8 -1. Not applicable

Interviewer | (5% S99 A= AA5S | (Iftherespondentdoesnot have a regular

Instruction N4 = UFo] A 3|5 gtol| | monthly income.(e.g. farmer), divide the

estimated annual income by 12. Make
sure'toinclude the Income of each family
member living with the respondent
mentioned In Q. 56, 57, 58)

Translation
Note

Note

- Even though hompop = 1, ‘nat, in¢” and ‘nat_rinc’ are not the same. Because #70
includes the income of family member living separately.

Filter Variable(s) and Conditions:

Construction/Recoding: (If the income information is collected by asking for income
classes or brackets, please code class midpoints in local currency and report classes offered
to respondents. If askingsfor individual amounts, list lowest, highest, and ‘missing’ codes

only)

Country Variable Codes/Construction Rules

= KR_INC

I£.#70=10)

10. 100,000 WON

If (#70=3000)

3000. 30,000,000 WON

I #70=0) 0. No income
- -7. Refused
If (#70=-8) -8. Don’t know

-9. No answer

Optional: Recoding Syntax

| recode incom( (-8=-8)(else=copy) into kr inc.
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MARITAL - Legal partnership status

National Language

English Translation

Question no. | #52.1.4 ©] o] ZQlAEl+= 7]&, #52.14 Is [PERSON] now married,
and text AP o]& HA wE EA Foi | widowed, divorced, separated, never
o t] o] s atu ke married, or cohabiting?
Codes/ 1. 7] 1. Married
Categories 2. AHE 2. Widowed
3. 01% 3. Divorced
4.3 A 4. Separated
5.1 5. Never married
6. 5 6. Cohabiting
8. 2=t -8. Don’t know
-1. v 3l -1. Not applicable
Interviewer - -
Instruction
Translation | -
Note
Note -

Construction/Recoding:

Country Variable Codes/Construction Rules

=>» Marital

If (#52.1.4=1)

1. Married

If (#52.1.4=6)

2. Civil partnership

If (#52.1.4=4)

3. Separated from spouse/civil partner
(still legally married/still legally in a
civil partnership)

If (#52.1.4=3)

4. Divorced from spouse/legally
separated from civil partner

If (#42.1.4=2)

5. Widowed/civil partner died

If (#52.1.4=5)

6. Never marriednever in a civil
partnership

-7. Refused

If (#52.1.45-8)

-9. No answer

Optional:Recoding Syntax

if (maritalkr=1) marital=1.
if\(maritalkr=6) marital=2.
if (maritalkr=4) marital=3.
if (maritalkr=3) marital=4.
if (maritalkr=2) marital=5.
if (maritalkr=5) marital=6.
if (maritalkr=-8) marital=-9.
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F_BORN — Father’s country of birth

National Language

English Translation

and text | F7o) A o] U571

Question no. | #54.1 T3te] FEEAA = o]

#54.1 In what country were your parents
born?

Codes/ o} 1] A Father:
Categories | g =7t} -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -
Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = F BORN
If (#54.1=...)
-7. Refused

If (#54.1=-8)

=9. Novanswer

Optional: Recoding Syntax

| recode fbirthpl (411=408) (-8=-9) (else=copy) into FABORN.
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M_BORN — Mother’s country of birth

National Language

English Translation

and text | F7bo) A o] b5 U712

Question no. | #54.2 T3te] FEHAA = o]

#54.2 In what country were your parents
born?

Codes/ olm Y Mother:
Categories | g =7t} -8. Don’t know
Interviewer | - -
Instruction
Translation | -
Note
Note -
Filter Variable(s) and Conditions:
Construction/Recoding:
Country Variable Codes/Construction Rules = M_BORN
If (#54.2=..)
-7. Refused

If (#54.2=-8)

=9. Novanswer

Optional: Recoding Syntax

| recode mbirthpl (411=408) (-8=-9) (else=copy)/dinto M BORN .
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urban - rural

National Language

English Translation

Question no.

#26 A5t U 5 o= A Yol A

#26 Which of the categories below

Instruction

and text )t} 3 Az AU 7k comes closest to the type of place you are
living in now?
Codes/ 1. & =4 1. A big city
Categories 2.2 A 9 2. The suburbs or outskirts of a big city
3. 22 =4 3. A small city or a town
4, A =mhS- 4. A country village
5. 9w 3 5. A secluded place
8. 220t} -8. Don’t know
-1. v 3l -1. Not applicable
Interviewer | - -

Translation
Note

Note

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules = URBRURAL
If (#26=1) 1. A big city
If (#26=2) 2. The suburbs or outskirts of a big city
If (#26=3) 3. A town or a small city
If (#26=4) 4. A country village
If (#26=5) 5. A farm or home in the country
If (#26=-8) -9. No answer

Optional: Recoding Syntax

| recode urbruralkr (-8=-9) (€lse=copy) into urbrural.
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National Language

English Translation

Question no. | -
and text

Codes/ -

Categories -

Interviewer -
Instruction

Translation -
Note

Note Derived from the sampling frame

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

2 KR_REG

if (blockno>=1 and blockno<=39) . 10. Seoul Metropolitan City

if (blockno>=201 and blockno<=206) 20. Gangwon-do

if (blockno>=281 and blockno<=286) 30. Dagjen Metropolitan City

if (blockno>=251 and blockno<=259) 31. Chungcheongnam-do

if (blockno>=701) 33.'Sejong Metropolitan Autonomous City
if (blockno>=301 and blockno<=306) 36. Chungcheongbuk-do

if (blockno>=151 and blockno<=161) 40-Incheon Metropolitan City

if (blockno>=101 and blockno<=148) 41. Gyeonggi-do

if (blockno>=631 and blockno<=636) 50. Gwangju Metropolitan City

if (blockno>=601 and blockno<=607) 51. Jeollanam-do

if (blockno>=651 and blockno<=657) 56. Jeollabuk-do

if (blockno>=501 and blockno<=514) 60. Busan Metropolitan City

if (blockno>=401 and blockno<=413) 62. Gyeongsangnam-do

if (blockno>=531 and blockno<=534) 68. Ulsan Metropolitan City

if (blockno>=681 and blockno<=682) 69. Jeju Special Self-Governing Province

if (blockno>=581 and blockno<=591) 70.

Daegu Metropolitan City

if (blockno>=551 and blockno<=561) 71.

Gyeongsangbuk-do

Optional: Recoding Syntax

if (blockn6>=1 and blockno<=39) kr reg=10.

if (blockno>=201 and blockno<=206) kr reg=20.
if(blockno>=281 and blockno<=286) kr reg=30.
if (blockno>=251 and blockno<=259) kr reg=31.
if (blockno=701) kr reg=33.

if (blockno>=301 and blockno<=306) kr reg=36.
if (blockno>=151 and blockno<=161) kr reg=40.
if (blockno>=101 and blockno<=148) kr reg=41.
if (blockno>=631 and blockno<=636) kr reg=>50.
if (blockno>=601 and blockno<=607) kr reg=>51.
if (blockno>=651 and blockno<=657) kr reg=>56.
if (blockno>=501 and blockno<=514) kr reg=60.
if (blockno>=401 and blockno<=413) kr reg=62.
if (blockno>=531 and blockno<=534) kr reg=68.
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if (blockno>=681 and blockno<=682) kr reg=69.
if (blockno>=581 and blockno<=591) kr_reg=70.
if (blockno>=551 and blockno<=561) kr _reg=71.
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SUBSCASE - Case substitution flag

Filter Variable(s) and Conditions:

|

Construction/Recoding:

Country Variable Codes/Construction Rules

= SUBSCASE

1. Case from original sample

2. Case substituted

-4. NAP, no substitution in this sutvey

Optional: Recoding Syntax

| compute subscase=1.

INTERLANG - Language of the interview

National Language

English Translation

Codes/ Categories
deviating from
1SO 639-3

Note

Use of ISO 639-3

1SO 639-3

Please specify any other code

Filter Variable(s) and Conditions:

Construction/Recoding:

Country Variable Codes/Construction Rules

= INTERLANG

29 k=0

29 "Korean (kor)"

Optional: Recoding Syntax

| compute INTLANG=29.
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WEIGHT - Weighting factor

Please report on whether you calculate any weighting variables. If you adjust for non-
response bias, please enter the variable(s) on which the sample’s distribution(s) is (are)
adjusted to the population distribution(s). Please, also report if you apply any kind of

rescaling.

Design weight to

adjust for unequal No L]

selection probabilities | yeq V]

Weight to adjust for No []

non-response bias

Yes [V ] — please specify.variables used for
calculation of weight

We were using the following 4 variables with
specific categories: gender(male, female),
age(18<29, 30-39, 40-49, 50-59 and over),
Region(seoul, kyunggi, kangwon/jeju,
chungcheng, kyungsnag, cholla),
urban/city(urban/rural).

Are the final weights No [ 1" please specify target population

rescaled to net sample represented by sum of all case weights

size (thus weighted

sample

size=unweighted

sample size)? Yes V]

Note

Construction/Recoding:

Country Variable Codes/Construction Rules

= WEIGHT

1. No weighting
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MODE - Administrative mode of data-collection

Note

Construction/Recoding:

Country Variable Codes/Construction Rules

= Mode

10. F2{/PAPI, no visuals

11. F2f/PAPI, visuals

12.  F2f/PAPI, respondentsreading
questionnaire

13. F2{/PAPI, interpreter ot translator —
no visuals

14. F2{/PAPI, interpreter or translator —
visuals

20. CAPI, no visuals

21

21. CAPL, visuals

22. CAPI, respondent reading
guestionnaire (paper or on monitor)

23. CAPI; interpreter or translator — no
visuals

24./CAPI, interpreter or translator —
visuals

30. SC, arrives with interviewer,
interviewer attending

31

31. SC, arrives with interviewer, drops-
off, picks up later

32. SC, arrives with interviewer, drops
off, mailed back by R

33. SC, mailed to, completed by R and
hold for pick up

34. SC, mailed to, mailed back by R

40. CASI, self-completion, computer-
assisted

41. Self-completion, web questionnaire

52. CAPI, phone

60. CATI, computer assisted telephone
interview
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PARTIALS - Flag variable indicating partially completed interviews

Construction/Recoding:

Country Variable Codes/Construction Rules = Mode

- 0. partial case

1 1. complete case
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